
Epreuve 3 : Diviser pour mieux jouer 
 

For an athletics competition the teachers make teams from two composite classes of Year 5 and 6. 

- one class is made up of 11 pupils from Year 5 and 10 pupils from Year 6. 

- the other is made up of 7 pupils from Year 5 and 14 pupils from Year 6. 

- there should be pupils from both classes 

 The teachers want to have the biggest number of teams possible. 

 
 

How many pupils from Year 5 and Year 6 will there be in each team. 

Justify your answer. 

 
 


